A2

| want to buy some jeans a new shirt.

Answer:

She loves shopping, she doesn't have much money.
Answer:

He went to the mall he needed to buy some groceries.
Answer:

| can't decide between the blue dress the red one.

Answer:

She wants to buy a new laptop her old one is too slow.
Answer:

| will buy the shoes online they don't have my size in the store.
Answer:

They bought the sofa it was on sale.

Answer:

He bought a new phone his old one was broken.

Answer:

Tina goes shopping every weekend she loves new clothes.
Answer:

Tom wants to buy a bicycle he can ride it to work.

Answer:




Answers

| want to buy some jeans a new shirt.

Answer: and

She loves shopping, she doesn't have much money.
Answer: but

He went to the mall he needed to buy some groceries.

Answer: because

| can't decide between the blue dress the red one.
Answer: or
She wants to buy a new laptop her old one is too slow.

Answer: because

| will buy the shoes online they don't have my size in the store.
Answer: since

They bought the sofa it was on sale.
Answer: because

He bought a new phone his old one was broken.
Answer: because

Tina goes shopping every weekend she loves new clothes.
Answer: because

Tom wants to buy a bicycle he can ride it to work.
Answer: so



